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| Semester 3 Year LL.B./V Semester 5 Year B.A.LL.B./B.B.A.LL.B./B.Com.LL.B./B.A.LL.B.

Duration : 3 Hours

(Maj.-Min. System) Examination, June/July 2025 (Even Sem.)
CRIMINAL LAW - |
Indian Penal Code

Instructions : 1. Answer Question No. 9 and any 5 of the remaining

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

Q. No. 6.

Q. No. 7.

questions.

2. Q. No. 9 carries 20 marks and the remaining questions carry

16 marks.

3. Answer should be written in English or Kannada completely.

Explain the concept and elements of crime.
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Explain the provision relating to right of private defence of property.
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Define and distinguish between giving false evidence and fabrication of
false evidence.
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Examine the essential ingredients of offence of murder.
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Discuss the ingredients of robbery. How it differs from extortion ?
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Explain essentials of criminal force. Distinguish it with assault.
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What is defamation ? Explain its types and essentials.

TRITID Q0TI 7 LTO IPNRYIY, WEY LOINYRY, NTOA.

@ Scanned with OKEN Scanner

Marks :

Marks :

Marks :

Marks

Marks :

Marks :

Marks

Max. Marks : 100

16

16

16

116

16

16

116

P.T.O.



0105/2045/0524 [T A

Q. No. 8. Write short notes on any two of the following : Marks : 2x8=16
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(@) Criminal trespass.
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(b) Criminal breach of trust.
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(c) Public servant.
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Q. No. 9. Solve any two of the following problems : Marks : 2x10=20
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(@) M had sexual intercourse with N a minor girl below 16 years of age
with her consent. Whether A has committed any offence ? Give
reasons.
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(b) ‘A’ with the intention of disfiguring ‘B's face gives a blow which
does not disfigure ‘B’ face but causes ‘B’ to suffer bodily pain for
20 days. Decide the liability of ‘A’.
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(c) ‘A’ married ‘B’ in a temple. Later he obtained a released deed from

his wife ‘B’ and marries ‘C’. Has ‘A’ committed any offence ? Give
reasons.
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